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b) The vertex is on the y-axis. When ¢ is positive,
the vertex is g units above the x-axis. When g is
.. megative, it is ¢ units below the x-axis.
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2. a) When p <0, the graphof y = (x — p)*is to
the left of that of y = x2.
b) When p > 0, the graph of y = (x — p)lis to
L the right of that of y = x2.
" k}’ a) iii b) i c) iv d) ii
(4)a) y = (x + 27 b)y=(x -3
T Oy=(+4 dy=(x~5p
Ja) i) (-2,0) @) x+2=0 i) up

.
5.
L’} iv) 4

b)) (~1,0) i)x+1=0 iii) u
iv) 1
QDGO ix—3=0 idi)u iv)9
A D@0 W)x-4=0 di)up iv) 16
'\G,Ja)y=(x+2)2 b) y = (x + L2
S Oy=x-32 dy=(x-4Q
|,_7.{';]a) (=30 @x+3=0 ii)up
~iv) 9
b) i) (8,0) i) x—8=0 ii)up iv) 64
i) (20 i)x—-2=0 i)up iv)4
d) i) (-4,0) i) x+4=0 i) up
. iv) 16
[ 8. Ja) b)

do]
T

B §=0]
IQ]

Lo — {
T USTE<los? |
A Tl 3

-

] o ] e




Azl

X+ 250

;34

("

1

R

Lo

L

1603) ) = (x — 4
Qy=(c—

b) y = (x + 3P

5l

b)
T4l [:N_\G
B O L VA

[ la=-1=0 {l\'\.

-

&

|

T

SE0N

xt 1h={}

ch
{

*--.J:___

=
e

WUADERATIC FUNCTIONS
3

l!.) - IJ y 1 -
W _\"\\\‘\ ; ;I; ;fj;';j{z_
NG
=3 L )' ™\ a0
LAALIANN L 42
WATA A 2
it
7 W i

b} The parabola is expanded more:
as a increases when a > 0; and as a decreases
“~~, when a < 0.
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